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<EHiE>
EhaE : A4 (Nvay) T4V (v=F) - BA (B - 4HE - ER)
F it H SEREEC (N) argE B (N) atgE (%)
11 A 41 11 26. 8
< g >
FhE - 24 (Nrvar) T4V (v=F) - BA (HE - AR - ER)
FEhi A SR (N) ek (N) Gt (%)
11 A 5 0 0
<HATA K>
FheE . XA (Nray) T4 VB (=) - BR R -4 HE - ER)
Skt H R (N) arsE B (N) G (%)
11 A 4 0 0
< AN 1>
FEhaE . 24 (Nvay) T4y (w=7) « BA (R -4 HE - =BR)
FE ki A SR (N) et (N) et (%)
11 A 91 8 8.8
<&E7 v AT >
FEhaE : 2 A (Nvay) T4V (v=F) - BA (B - AR - ER)
5t A SERE A (N) et (N) G (%)
11 H 53 2 3.8
<gkTL>
FEhaE . 24 (Nvay) T4y (w=7) c BA (KR -4 HE - )
FEhi A SERFEC (N) et (N) R (%)
11 A 4 0 0
< T4 >
FhE 24 (Nvay) T4V (v=F) - BA (B - AR - ER)
e A SBREE (N) e (N) ot (%)
11 H 8 0 0
< HoxE>
FhE : 24 (Nvar) T4V (v=F) - BA (HE - 4 HE - ER)
FE it H SERFEC (N) et (N) et (%)
11 A 11 0 0
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EhaE . ¥4 (N2 y)
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F it H SEREEC (N) arsE B (N) et (%)
11 A 2 0 0
<ft k>
FhE - 24 (Nrvar) T4V (v=F) - BA (HE - AR - ER)
FEhi A SBRE R (N) atsE B (N) et (%)
11 A 13 0 0
< B AL >
EhE . A (Rray) T4 VY (w=F) - BA GER - 4= - )
Skt H R (N) arsE B (N) G (%)
11 A 37 0 0
< MR >
FhE 24 (Nrar) T4V (v=F) - BA (HKE - 4 HE - ER)
FEhi A SR (N) ek (N) et (%)
11 13 2 15. 4
< Bt T >
FEhaE : 2 A (Nvay) T4V (v=F) - BA (B - AR - ER)
Skt H SERE A (N) et (N) G (%)
11 H 73 1 1.4
<R ARALNL T >
FEhaE : 24 (Nvay) T4V (v=F) - AR (B - AR - ER)
Skt H SERE R (N) et (N) G (%)
11 H 17 3 17.6
<7V v SRR R >
EhiE . ¥4 (Nvay) T4V (w=7) - BA G - 4R - &)
FE it H SERFEC (N) et (N) et (%)
11 A 27 14 51.9
< T T AT v TR >
FhE 24 (Nray) T4V (v=F) - BA (B - AR - ER)
Skt H SBREE (N) et (N) ot (%)
11 H 40 7 17.5
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EhiE - A (Nr=ar) T4 VY (w=7) - BA G- AR - EBR)
i A A (N arEE (AN artER (%)
11 A 32 2 6.3
<IEE>
EhilE : AA (AbE)
F it H A (W) ekt (N arEE (%)
11 H 24 6 25.0
< THEEE>
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